[N of reco track vs normalized x2 ]

2 F
S fe
g
“10*F

10°F

10°F

10§

1:_ R P =

E, 1 1 1 ] 1 1 Il 1 1

] L T T T T T
¢ : 'TTHJ AEEL ELLLELELELLLE

0 2 4 6 8 10 12 14 16 18 20

| N of associated (recoToSim) tracks vs normalized x?

trug tracks

Ratio

16 1
track x2

8 20

0 12 14 16 18 20

N of associated (recoToSim) looper tracks vs normalized x*

=
o
S

duplicate tracks

10

092 4 6 8 10 12 14 16 18 20

track x?

berset

W:iiiiﬂi‘.{ﬁiiiiiiiiiiiiiii'iii:::::::::::::::::::'iiiiiiiiiiiiiiifiiii‘iii

e

g@esesesesesessemesem.‘esesesessesesesesesesesesesses=*=*=sesesesesessesese

ey

=
o
S

duplicate tracks

10

o




	Contents
	Page 1


